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Time
9:00 188 244 - 5t 2Bt
9:30 E—8 AR
Ad—}h Ba—k
Time Hh7FdU— HEH HElE AFI)— HEH HENE
10:00 GIL—IL $az=7 25kgLLF 1[B18% 8EE Al~A8 G/L—IL HE sy 2 A B1~B2
GIL—IL $az=7 25kg AT 2[E 8 25E& | AI~AI10 G/L—IL Daz=7 |30keA FUEH) 1[E18% e B3~B5
GIL—IL $az=7 25kg AT 3[EE 45E | Al1~A14 G/L—IL Daz=7 | 30kgAT(E) 1[B18% 28E B6~B7
GIL—IL $az=7 25kgLLF RN 25 A& | A15~A16 GIL—IL nE Ly 2 E B8~B9
GIL—IL $az=7 25kgLLF R 25 A& | A15~A16 GIL—IL Daz=7 |30keATFUEH) R 2:44& | B10~BI11
GIL—IL $az=7 25kgLLF R 1=Ha Al7 GIL—IL Da=7 | 30kgA (@) R 2:44& | B12~B13
GIL—IL Taz=7 |30keATFUEH) R 1=Ha A18 GIL—IL WE ey 2544 | B14~B15
GIL—IL Da=7 | 30kgAT(E) R 1=Ha A19
11:15 18T fRE
2EZF-EtE
FE2RREA A B
11:45 GIL—IL $az=7 40kgA T 1318 1#3E Al GIL—IL $az=7 35kg AT 1[B18% 45 E B1~B4
GIL—IL Paz=7 40kg A £ way 1=Ha A2 GIL—IL $az=7 35kg AT 2[E 8 45 E B5~B8
GIL—IL $az=7 40kgLLF R 2 A A3~A4 G/L—IL az=7y 35kgLLF R 2544 | B9~BI10
GIL—IL Paz=7 40kgA £ way 1=Ha A5
G/L—JL Paz7 ¥ ovvyF | 1HE A6
GIL—IL Paz=7 40kgA £ way 1=Ha A7
GIL—IL $az=7 40kgLLF R 1=Ha A8
GIL—IL $az=7 35kgA T R 1=Ha A9
G/L—JL PazZ7y 40kgkl £ BARLRYTF | 1A A10
12:30 2BRIET  FRER
RE = iy
EREIEEEs
13:00 GIL—IL g 45kg AT 1[B18% 45 E Al~A4 GIL—IL g 45kg AT 1[E18% 45 E B1~B4
GIL—IL et 45kgLLF 2[E 8 1=Ha A5 GIL—IL s 45kg AT 2[E 8 1=Ha B5
GIL—IL et 45kgLLF 3[EE 28E AB~AT GIL—IL ek 45kg AT 3[EE 28E B6~B7
GIL—IL g 55kg LL T R 2 A A8 GIL—IL g 55kgLL T R 1=Ha B8
GIL—IL g 45kgLLF R 2 A A9 GIL—IL g 45kgLLF R 1=Ha B9
GIL—IL g 55kgLL T R 1=Ha A10
GIL—IL et 45kg AT R 1=Ha A1
13:45 SERIET FREK
AR E
FEAMH S BA
1415 | RESIL—IL |hZEELUT 1[E18% 1#=Ha Al
HE|IL—IL | Pa=7 1[B18% 1=Ha A2~A3
HES/L—IL |h2ELUT iR 28E Ad~A5
RERIL—IL | —BEF JURyF | 28E AB~AT7
KESIL—IL | Paz7 R 1i=& A8
HER/L—IL |h2ELUT R 1=Ha A9
15:00 4ER¥RT FRER
SERZAT-EtE
E5RRE A B
15:30 GIL—IL —RBF 60kg AT 1[B18% e A1~A3 GIL—IL —BF 70kg L £ 1[E18% e B1~B3
GIL—IL —RBF 65kgLL T R 2 A A4~A5 GIL—IL —HBF 70kg LT R 28E B4~B5
GIL—IL —hBF 60kgLL T R 2 A A6~A7 GIL—IL —BF 70kg L £ iR 28E B6~B7
GIL—IL —B5F 65kgLL T R 1=Ha A8
GIL—IL —BF 70kg LT R 1=Ha A9
GIL—IL —BF 60kgLL T R 1=Ha A10
GIL—IL —BF 70kg A £ R 1=Ha A1
16:15 5ERHET
16:30 fiEER




